
87

�������������	��	��
������
��������

��������� ��	
������ ��
�� �� ISSN : 0972-2351

	�
������ ��������� ��������	
�� ������
������ ��
������
����� ������	!
����������
������"��� ��#�$

����������	�
���
��

CORE Metadata, citation and similar papers at core.ac.uk

Provided by CMFRI Digital Repository

https://core.ac.uk/display/33016863?utm_source=pdf&utm_medium=banner&utm_campaign=pdf-decoration-v1


65

�������������	��	��
������
��������

��:���	
�

���������&�+���0��������9�%���*�������%�/����0�� �y��������������%�0�����9�����+��_���-�����2/3���0��=�

� ��m�� (Coral Reef)4�;����9� .��0�� 0�/>�������� �0��0�*�$����%����0�)�8���� ��)&����6)�%�/��� .�/0�

���a�+��+��/�:�������/.�����2<34�%$�����0��=��� ��m�+��I�%����0�)�8����?�.������2/34���� ���:+�0�8����0��=�

� ��m�+��I���������%�0�����$�)X������%$+��*����%0����$�����+���:�+���%�0�����$�)X��2/34��&�AB=�������

��8����9� ��9� ��0��=�� � ��m�� ���� .��0�� ����7��$����%�/��� �����0��+�� ^������9� Z'������0��=�� �0��)�.����

��AB=�����)&�����%�9�����%�$����$�+�����23��������������$�+����0+�0�23����%�/���$����+���0������\����

0�.�23�����%$+�)$����(��0������ ,�-��$�� &����2<34�'&�+���_��*������+��9� ��9� ��0��=������:��23�=��23����9

&�23�������:�6�2<3�%�/���+�������:����0��=��.���$�+��9��������$��-���+�$0������=�6�6���������/$��� ���2/34�23�=�

����0�!��w�������������������*+����9�����+�23����&����������+��������0�5��0+��&����$��/���&��������7��$����%�/��

�����0��+�� ��������9� ���� ��0��=�� � ��m�+��I� ?�$����� &���� 2<3� Z'���Y�"
#��� ������
��� �###Q� ���!�K��+�

 ���0�>�����+���###\�6��������%�����Z�##�\��������&�����������%��������������������0��=��� ��m�+��9

����

����$�8�$�������0��+��23=���=��9� +���:��$��0��*�+��9�����?�$����� &���� &�DE�:�+���2/34�'���2�����

����=�6�� ��m�+��9�����%)$�����!�K��+��0�!���Z�##]\�%�/�����23��������������%)$�����!�K��+��0�!���Z�##�\

��9��0�5�� ������9���0��=��9������0��)�.����2�3%��-���Z	����	��������%�/������
"%#��������###\Y����=�

��0��=��� ��m�+��9������
����$�8�$������&���������8��2�3%���.��������������$�� �����23f� ���+���.��

����$���2/34

�0�5��  �������� ��0��=�� � ��m�+��I� �����0��� :��$��0��*�+��9� ����%�a���������� *������� &���� 2/34

%0����$����9�&�DE�:�;��� ��m�+��9��������������9� ����$������� ��m�+��I� ����(�����A�B���������,����=�$��2/34

0�!����#]O���9��&�==�/��������C���� ����$������� ��m�+��9�&����&�DE�:�6�%�0����$�)X������%�/��������0��+�

���� ������������-����	
��+�>'��������������	
������	
�

��>� � 1��	�
� "��� � ?�2�� 	
�� �������	
���
� �2������� ��+���+�0
�������+��������������,$�+�����%�����)*�������)�-���������������



66

�������������	��	��
������
��������

23=���=��9�&�������$��0���������-���Q��&�==�/�Z�#�
\�%�/���.������%����

Z�#�#\� ���� =�C�S��&�� ���� � ��m�+��9� &���� &�DE� :�6� &�����,�-��$���

��(��0��&�����0�0���������+���-��4����AB�����?��DE������� ��m�+��9����

�����+��%�9����� (������ ��9� ��A�����Z�#�O\�%�/��� 	�������Z�#��\

$�-���%��DE����������� ��m�+��9�����(��������9����
���������%�����Z�#�]\

���� ������������� -��4� 	�������Z�#�
\� ���� �J�������C���� ����$�����

� ��m�+��9������$����&�����0�0���������+��4���0��(*��������%�����Z�

d\

����23�=�����������8����u ����$������s�kj���0��=��9�&����&��,�$����v���9� ����$�

���� ��0��=�� � ��m�+��9� &���� 23�����0��=��� *������+��9� ���� ����R�� ���X���

���+���2/34�;����9�'�23�9����&�����,�-��$����^������9���������):����9���0��=�

��)&����%�9� &����%*+�+����%�/��� ��*+�0�F$�+��9� ���� (����� .��:�GH��$��

%�/�����(�)*�������������� ��0��.�:����������'h��8+������ ����$��������0��=�

� ��m�+��9�&���������0��+��^������9�S������&�DE�.�����0��=������$����=���� ��0�

&����0+�_��GH&�����+���2/34

�����-�� +�>�������������� 	
��� ����������� 	
� ������-��� O�34	
� ��>� 

"��� � ?�2�� 	�
� 1"����

A�� ������#�

���y�����?��WE��Z����������������R��&������S��&�\�%�/���%��DE������S��&��9

��9�23�����0��=�����0��=��$�-�������c���������?������������0��=��� ��m�+��9����

%0��������������%�/���%&��������23��$���2/34�0���$�0����9�&�����'&����:���

%�/������y�����?��DE����9�&�$-����?����������2�3%����0��=��� ��m�+��9����

���8��;�$�23������9�23��%$+�)$���-����������������(��$��2/3�%�/���+�23���0��=�

.�/0��0��0�*�$��� &���� �����0�� ���F��$�� ^������ 2/3� �.���&���� (�2�3$�� ���AB

%*+�+���� ���+��� :�+��� 2/3� Z	��������#]O\Y����AB�����?��DE�� ��9

���=�������+���� ���$�� ���� ?������ ���� �&���������� S��&�� ���� � ��m�+��9� ���

'==��?����+�����8��2�3%��2/3�%�/���%�*�����*����%&������������0�.�23

�������AB�����?��DE����9��:��
���
����.���$��%��$+�C��2�3;��2/34�	������

Z�#]�\�����+�23�0+�_�����+���2/3�����6a���&�������.���$��%�/������
/������
���

.���$��.�/����AB������ ��0��=��.���$��%0���������9���23���23f�����$���2<4

;���=�6�%&������������0�.�23�����;������$���)�$�����8��23��$���2/34���0��=��9

&����������+��������� ��0������(��������9�(�2�3$�����AB�%*+�+����%(��$���

���6�:�6�2<34

D�� ��-����+�0��

$�=����.����� &����+���.����%�9����� ���-�������GH&������ � ��m�+��9����

(���23������8���%�0�������9�&����0�$�����%�/���%0�����������0�.�23����

23�����0��=��� �����+��6)� ' ����%�$��� 2<34� =�C�S��&�� ���� =�/:�����9� %�/��

� ��m�+��9��������8������J�=��0�GH&��23�����0��=����0����8���������� ��0��9����

(��������9�	�����������Z�#�
\�0+�_�����+���2/34���
����%�����Z�#�#\

��������������+��%�/������=������S��&��9���9�$�=����.���������2�36���LM��������8�

����(��������9����&�����������2/34

G�� ��#:���2�

��;�� C��X��9� ��9� ���6� :�6� %�����)*����� ����� ���^������=���� $��=�

�����!��������J�=��0�GH&��2�3;����0��=��9�������7$+��$���������.�����C���$��

%�/���AB�����9�����'$&������������0�J�=�$�������0+�_�����X�����=��:�+��

2/3� Z��0��(*�������� %������ �

d\4� ���������������� S��&�� ���� �������

�������� .�=�� ��9� AB��DE� ���6� .�����0��=��� %�/@���:���� �0���.+��w�� &������

(=��+����%�/�����*+��%��DE������������=�������%����^����%�/������+����=��;�

�����?�����9�����AB��DE�������0��=���(��23	1��0��9�������0��=��9�&����23�����0��=��

���8��%�/���?�$���������(��������9����&�����������:�;��2/3�Z���
���������%�����

�#�]\4�%��DE������%�/����������(�����S��&��9�%�/������y�����?��WE�����

��;��C��X��9���9�%0�����������.����0������$����+��� ��m�+��9�����.+�����$���

��`�����0��2�3%��2/3��.�������J�=��0�GH&����0��=��9�������7$+��$������� ��

��������(����:�+���2/34����=����/��%�/������y�����?��DE����9���=�.�=�����

�����!����������0��=��9�������&����23���$��8�/0��=������%�0������(����.��$��

2/3���.�������0�.�23�������0��=��?����(�� ���23���.��$���2/34

��� ���"������� 	
�� #�7����� ��>� � ����
 +���

 ��/:����=���� .�=�0��+��� &���� 23�����0��=��� ��(��0��  ��� ��0��=�� � ��m�

��)������������?+�����������������.��$���2/34� ����$������&����s�8+����9

��������Z�


\�S������%��/=��	�.��=��;����##���������/���������X��$����

���*��������$��������S������ ����$������d���0��=��� ��m��C��X��9���9����������&����$�=�

$��&������� &���� ���6� :�6� %*+�+���� ���� ��0��=��9� ���� �0��)�.���� &���3

'==��?�����+���:�+���2/34�;���%*+�+��������%�*�����&�������AB����

?��WE�� ��9�  ��� ��0��=��9� ����11%� �0��)�.���� ������D�E� ���+��� :�+��4



67

�������������	��	��
������
��������

=�C�S��&����9����=����0��=��9�����82%�%�/������y�����?��WE����9�89%

��0��=���0��)�.��������'==��?�����+���:�+��4��0��)�.��������2�3;����7$+��$��

=�C�S��&�� ��9� 26%� %�/��� ���y����� ?��WE�� ��9� 23%� ���?��� :�+��4

��0��=��9�����;��� ��������7$+��$�������%�0�����+��$�-��������.�	%�F-���

�� ��0��&�DE�.��$���2/3�%�/���+�23� ����$����9���0��=��� ��m��&������C�������

���������%���0��C��������%�����;8����������$���2/34

I�� �����-�� � ��@�

�0�5�� ������9���0��=��9���������������:��9�����&�23���������+���:�+���2/3

	� ��J����� &��c������ ���=��� &��c������ .��0������ R������%�/��� !���	DE�'��

���$��a�+��4�% ���$����%��DE������60�)��������(�����S��&�������23�%�/��

=�C�S��&�������23�������J�����&��c���������:������'==��?�����+���:�+���2/34

;������%�$����_��=�C�S��&������N&����=��;�������:����������6�����6�����:�

�������&�����������:�;��2/3�Z��B�;�;�������%�/�����B�;;�;���������##�\

M�� ������������	
� ��� �	
��� ���� ��������

�J��������S��������$�+�����&��8������$�+�����$������)&��8���%����+���

%������0����8��$�������$�+����:��$��0��*�+��9��������y�����?��DE���.�23�I

��0��=�� � ��m�+��9� ���� ��(�����%�*���� �0��0�*�$��� ���� u��������� .��0�

�0�8��!�>��9������0�:��v���23��.��$���-���%�/���%(��u ��$��S��&�v���23=��$��

2/3�� ���� ��0��=��9� ���� %$+��*���� ���8�� 2�3%�� 2/3� Z�"%#��
",#� %�����

�

"\

F�� ;
�1��� ��(%
� �������0� ���� �� ��BC-��� _�����

�#�
�%�/����##
�����0�!��w���9�%��DE������%�/��� �������(����

S��&��9���9�����a��'���%�[J��-�������������������������������S��������0��=�

&��[�=�&��9�����&��� �C����&����'==��?�����+���:�+���2/3�Z	��������#�
\Y

'&�+���_��6�������D�E���� ����$��+��� ��m�+��9���9����/.�����23�����������������

%�*�������X�����9�R���������������������23f����&$��2�3;��2/34

��� "���034��

=�C�S��&��%�/������y���������?��DE����9� &�+����������� � ��m�+��9����

%�*�����*�������8��2�3%��2/34�&�+�������9�S������%���0�8+�������n�9�AB��D

�����������0�.�23������ ��m�+��9������0����8��23��$���2/34

"��� � ?�2�� ��>� � ��7�
����� 	
�� � 2�������

.�/0�� �0��0�*�$�������&������C����%�/��� ��(�)*��������=�6� ����$����9

��;����+�����'LM�6�:�6�2<4

������������)���C�$��C��X��9�����&�23������%�/���;������%)�����%�/��

��)��C���

���0��=��� ��m��%���0��C��������=�6����+��+���.����%�9�����$�/+�����

%�/���=��:��4�%�+��'==��?����+��%)$�����!�K��+�����+���0��*�+��I�.�/���� ����$��+�

��2����������9���0��=��� ��m��%0����$��(CORDIP)�%�/��� ����$�	

%���K���=�+������8�C����%�/���C���$����������������+��a������������)� �4

���0��=��%0����$��������������� ���*������������=�6���������)0������

$���������9� %�/���  ��� ��0�~C����9� S������ $����+�� C��X��9� ���� ���!�K�0����

��������X�����������������)� �4

���)(�)�*�$��%�0�����$�)X��������)��C������������):����9����!�K��+������$�

����&����8���*����%�/���%�*����+������Z���!�K��+��.�/0��0��0�*�$�����������$�

%�/������+���+���.����\

����+���$���0�&���������+�)X����%����8�

�����	
��0

��0��=�� � ��m�+��I� %&����� ���/���+���� '$&������$��� %�F-���� =�� �

%�/���.�/0��0��0�*�$�������s�,!��������� ������!�K��9��������:�������9�����=�6

%$+�)$�� ���=+�0����� 2<34� �&�AB=��� ��8���� ��9� �0�5��  ���� ��9� ��0��=�

� ��m�+��9�����0+��&�������8���%0����$��%�/�����7$+��$���2�36�2/34��J���� ��

0�$����������+�������9���0��=��9����� ��!������9������!�����'&� ���:������=�6

%�/��� &�+������� $����� ������$�� ���+��� :�+��� 2/3�� %$+�)$�� ?�$��������

 ��!����9�����(��������9���23f�(�$��+���:�+���2/34�.��0�.���$�+��9���������7z�

��)���C�$��C��X��9�����&�23���������+���:�+���2/3��=��������%:����23��9���0��=�

�0��)�.����������������� 2/3� $���� ��0��=��9� ����� ���8���������0��=��� �����?�

?�$����9�����������������������=�6� ���$���)�$����+�������������23��:���4�23��9

�0����8��$��������+��w��������+�)X�����%�$����$�+������9���������&��=���

*����$�=��9�������)��C�������=�.�=��9�����'&�������$����+��.�=��8�+��9����

&������ 0�������&���� %�/��� R����� :�/��� ������$��� ���� �-��+��������� S�����

 ��/:����=����.�=�0��+���&����0�$������������������������2364



68

�������������	��	��
������
��������

��
����

���
+�

>���
���

���
���

��
	


��
���

��	

��

�N

6�
���

�0��
=��

� �
�m�

��
���G

H&�
�+��

���
���=

�6�
��/�

�DE
�9�0

�!���
=�:

��.
��$�

��2
<3�%

�/���
%�

:���
;��

���
(�i

j$��
��

���=
�6�

 ��
��

�;��
0�!

��w�
����

���
�+��

���
�n

�GH
�$�

�2
/34�

��0
��=

���
 ��

m�+
��9�

��9�
23n

���
��9��

��+
�

%�
/���

.��
0��

6�
���

�-�
���

23$�
��2

<3�%
�/���

'�
����

���
�8�

��
���=

�6�
=��

=��
���

���
��!+

���
����

6�
��C

���
���

���
�2

/34�
���

�����
.��

0��9�
���

���
�8�

��
����

���2
3���

�0��
���

���
��+�

���
���$

���2
<34�

�&�A
B=���

��;
��0�

!��w
����

���/�
����
���

0��=
��9�

���
��0

�0���
�8�

��+�
���

�8�
���

�+��
�:�

+���
-��
�=

����
����

0�$
�����

���
��9�

;�
��&

���
�����

��=
�:��

+���
:�+

���
2/3�

%�
/���

;��
����

&���
���C

���
��

���=
�6�

=��
�:��9�

����
(���

�
%0

�:��
23�

.�:
���+
���

.��
���

23��
2/34

���
��-

����
	


��
6�

���
�

���+
���
��

����
0�U

Vz
��2

3������
&��

�� 
���

 ��
��$�

��
����

�;��
� �

�m�
�C

��X��
9���

9��
J��

����
���

����
�$�

+��
���

����
����

��

��-
���

���
��=

�$��
2/34

�+�
23�

��A
B=��

�e
��)DE�

9��
���

���0
��9�

��9�
&��A

B���
����

���(
���
���

���$
���2

�36�
��$

�+�
��

���
�����

���
���

��$�
�2

/34�
(��

���
0��

J��
����

����
(���

����
A�B%

�����
���

���:
�;��

��A
B�=�

+��9�
���

��
�)R�2

3���
���

�$��

2<34
��

J��
����
���

����
�0��

=��
� �

�m�
+��9�

%�
/���

=��
C�$

���
�23f

���
�6�

:�6
���

�8�
�����

9��
���

 ��
���

�8�
�2

3��$�
�

2/34
�%

�0��
���

%�
�����

=��
��$

�+�
���

����
$��

23��
.�/0

���
0��0

�*�
$��

���
+��

���
����

���+
���:+

��2
/34

�%

��3

4��
��

���
���

��
���

2��
�����

���8
���

�9�(
�ij$

���
2�3;

��%
�(��

����
����

���
-��

���
-��

'@
��:��

9��
���

%�
*��

�$��
� 
���

2�3;
��2
/34�

+���
'@

��:�

 ��
����

*��
$��%

�9�%
�/���

%�
+��

�0�!
��=

���&
����

-��
w��

����
��-
��'

$��
.+�

�w��
����

���
�����

��9�
AB�

�DE��
.��

$���
2/3

�.�
���

����
���
�����

.��
0��9�

���
�%

&���
�23�+

����
0��

��8
��2

3��$�
��2

/34�
6��

����
-��
���9�

����
���

�����
�?

��@
��

���?
�&�$

�

����
���

��!+
��8

����
���

��9�
 ��

� 
���
���*

��$�
�%�

9��
���

��0
��8�

�2
3��$�
��2

/3

.��
��.

��0�
���

����
=�6

�?
�$��

���2
/34

�
�>Q

���@
�	


�
��#

:���2
�

���
�����

.�=
���

�9��
�=�

.�=
���

����
��T

���
��
����

���
����

.��
0��9�

���
�� 
���
���?

�$��
���2

3���.
��$�

��2
/34

��=
�.�

�=��
��9�

%�
�����

�+��
��2

3�;D
KE.��

���
�=�

J��
;D

E�.
�/��

���0
�!��

=���
+��/�

:��
��2

3������
����

���
���

�

&���
���

���
�:�

���$
���

���
��2

3��$�
��2

/3�%
�/���

���
�����

�.
��0�

�9��
��

.��
0��

��?
�$��

����
�9�&

�DE�
.��

$���
2/34

)*����� �-�5 Y��� 7�8� @���� )>*l

���
���

��
	


��
 ���

���
���

�

��2
���

-�
���

N

:�2
3���

%�
���+

����
�$�

���
��I&

��8
��%

�/���
&��8

�.�
���

$�+
����

S���
����

���
�����

.��
0��9�

���
�%

$+�
)$��

���8
�

23��$
���

2/34
�%

����
+��

.��
=��

=��
C�$

��%
�/���

=��
C�$

���
�23f

��
���

:�;
����

AB=
���

.��
�$�+

��9�
���

���
�8�

���
�$���

2�36
��
���
����

$�=
���

���
AB�

��	
(���

���
���$

���2
<34�

$��
���

�)&��
8��

���
�����

�^�
���

��
�)�$

����
9��.

���
%$

+��*
���

�8
�`+

��&
��=

����
C��X

��2
<3���

���
���8

���
���$

���2
<3�%

�/���
;�

���
��0

�.�
23�

���
%&

����
����

(�i
j�.

��$�
��2

/34�
&��8

���
���

$�+
����

����
� �

�m�
+��9�

&��
��%

�*�
���

��(�
�$�

&�D
E�.

��$�
��2

/3�%
�/���

� �
�m�

+��9�
���

�C
��$�

�2
3��$�
��2

/34

�
���

��
��

���

"��
� �

���
0��

&�m
����

%�
/���

.�=
���
�:��

w��
���$

�=�
���
.���

���
&��=

��9�
���

���
���
����

�%
�/���

$��
��+�

�?
����

���
���%

&��
����

���
�) �

0�

23��$
���

2/34
�;

���
���a

�+��
%�

9��
���2

3�����0
��=

���%
0��

���
����

0��=
���

�&�
).��

%�
����

���
�����

�.
��0�

�9�&
����

.��
�

23���
����

0���
���

��.
��$�

��2
/34�

'�
��23�

����
-���

 ��
��$�

��
���

��0
��=

���
 ��

m�+
��I�

��L
M����

%&
����

����
����

 ��
!��

��&
����

2<34

���-
��

	

�

�
���

"-
���

���
��

�>�
 

"��
���

��
�
�

��-
�	




$��=
���

���
%�

*�&
=��

0��
��&

����
���

���'
&���

�$�=
���

�9�6
���

&��
�=��

����
GH&

���
�9�(

����
.��

$���
2/3�

�.�
���

���

���
��8

��%
�/���

:�/�
���

���
�0��

���
�+��

(�)�
��2

3��$�
��2

/34�
(��=

���
���

0���
����

+���
&���

���
��) 

��=
���

���
.��

���
9

�-�
����

+��
����

���
%�

/���
���

+�.
��$�

�2
3��$�
��2

<3���
����

6�
���

�6�
%�

0���
��$

���
�&�

���0
�23�

���
��+

��

.��
$���

2/3��
.�2

3�I�+
����

���
7��$�

���
.��

0�.
���$

�+��
9��

����
��-
�

%�
$�.

��0�
���

���
�$���

2<34

��-
�+

�-
��

��#
:���2

�


